#### Pay Estimate Created Date: July 1, 2024

Progress Estimate N 3	lumber	Contract ID Prime Contracto	230915-A4B or Magruder Pavin		Pay Period Start Pay Period End			Original Contract Amount Net Change Order Amount Current Contract Amount	\$11,427,284.93 \$0.00 \$11,427,284.93
Approval Date									By User
July 1, 2024			Generated and	Approve	d (and should be c	onsidered	l Draft)	at the Project Office Level by	russel2
July 2, 2024			Reviewed and Appr	oved (an	id should be consid	lered Drat	ft) at th	e Resident Engineer Level by	gillej
July 3, 2024	Reviewed and Approved at the Central Office Controllers Office Level							ce Controllers Office Level by	ramses1
Original Completion	n Date	Current Co	npletion Date	Act	tual Completion D	ate		% of Current Contract Amou	nt Complete
November 1, 202	24	Novemb	er 1, 2024					24.93%	
	Contract	Informational Dat	es		Miles	tones			
Date Description	Original Completion Date Current		Current Completi	on Date	No Milestones E	xist for Co	ontract		
Acceptance Date									
Awarded Date	October 1	2, 2023	October 12, 2023						
Letting Date	Septembe	er 15, 2023	September 15, 202	23					
Notice to Proceed Date	November	ember 6, 2023 November 6, 2023							
Open to Traffic Date									
Work Began Date									

# Contract Total Pay For Estimate No. 3

Contract Total Payable This Estimate:	\$1,784,687.35		
		<mark>\$964,801.43</mark>	\$2,749,488.78
Other Contract Adjust	ments \$0.00	\$0.00	\$0.00
Liquidated Damage	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Incentive	\$0.00	\$0.00	\$0.00
Gross Item Adjustmer	nts (\$45,364.93)	(\$54,408.05)	(\$99,772.98)
Total Posted Items Pa	ay <mark>\$1,830,052.28</mark>	\$1,019,209.48	\$2,849,261.76
230915-A4B			
	This Estimate	Previous	To Date

#### Contract Total Payable This Estimate: Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit Price	Current Installed Qty	Current Installed Amount			
JST0050	0010	4071005	TACK COAT	GAL	\$3.630	6,389	\$23,192.07		
	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$102.150	7,906.6	\$807,659.19		
0290 402052		4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	TONS	\$99.040	9,788.78	\$969,480.77		
	0300	4071005	TACK COAT	GAL	\$3.570	8,325	\$29,720.25		
Project JST00	Project JST0050 - Total								
Overall - Tota	1						\$1,830,052.28		

#### Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0050	0210	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,990	(\$2.63)	(\$5,225.98)
	0210	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,938	(\$2.63)	(\$5,089.42)
	0210	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	1,582.1	(\$2.63)	(\$4,154.78)
	0210	BITUMINOUS PAVEMENT	Price		Reference Item Price Adjustment Index	2,396.5	(\$2.63)	(\$6,293.50)



#### Pay Estimate Created Date: July 1, 2024

Progr		mate Number 3	Contract ID Prime Cont	230915 tractor Magruo	=			<b>mount</b> \$0.0	,427,284.93 )0 ,427,284.93
Project Number	Line No.	Item Descr	iption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JST0050			E PG58-28H LEVELING)			Adjustment Type applied is FUEL			
	0210		PAVEMENT E PG58-28H LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	A/C indexing			(\$5,188.71
	0290		PAVEMENT E PG58-28H LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,493.4	(\$2.63)	(\$6,547.97
	0290		PAVEMENT E PG58-28H LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,330.7	(\$2.63)	(\$6,120.70
	0290		PAVEMENT E PG58-28H LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,861.38	(\$2.63)	(\$7,514.33
	0290		PAVEMENT E PG58-28H LEVELING)	Price		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	2,103.3	(\$2.63)	(\$5,523.52
	0290		PAVEMENT E PG58-28H LEVELING)	Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-151.28	\$96.41	(\$14,585.49
	0290		PAVEMENT E PG58-28H LEVELING)	Other Item Adjustment	Asphalt Cement Price Adjustment	A/C indexing			(\$6,423.89
	0300	-	TACK COAT	MaterialCredit			7,648	\$3.57	\$27,303.36
Total									(\$45,364.93



# Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information									
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work					
JST0050		Resurface	YY, Y, M, 129,C, 139	PUTNAM	on Route 129 at four locations, on Route 139 near Brookfield. on Route T and YY in Putnam County near Unionville, on Route M and C in Linn County near Brookfield, and on Route NN Chariton County near Salisbury					

Totals by Job Numbers

	This Estimate	Previous	To Date
Posted Item Pay	\$1,830,052.28	\$1,019,209.48	\$2,849,261.76
Gross Item Adjustments	(\$45,364.93)	(\$54,408.05)	(\$99,772.98)
Gross Item Pay	\$1,784,687.35	\$964,801.43	\$2,749,488.78
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00

# Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Item Overrun: Contract 230915-A4B, Contract Project JST0050, Project Item Line Number 0290, Contract Line Item Number 0290, Item 4020521, Minor Item.	Asphalt overrun to be corrected in future change order.	russel2	Acknowledged



# Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

#### Total Paid / All Items / All Estimates (Including this Estimate)

d date and can differ from the posted amount at the time the Estimate was Ge orotod

tract ITRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTEL To Date (See report generated date)
A4B	JST0050	0001	0010	4071005	TACK COAT	71,836.00	0.00	71,836.00	GAL	8,905.00	\$3.63	\$32,325.1
		0001	0020	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$1,000.00	\$0.0
		0001	0030	6169901	MISC.TRAFFIC CONTROL LUMP SUM	1.00	0.00	1.00	LS	0.25	\$57,100.00	\$14,275.0
		0001	0040	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.25	\$409,000.00	\$102,250.0
		0001	0050	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	180.00	0.00	180.00	LF	0.00	\$31.00	\$0.
		0001	0060	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	6.00	0.00	6.00	EA	0.00	\$1,300.00	\$0.0
		0001	0070	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	303,382.00	0.00	303,382.00	LF	0.00	\$0.14	\$0.
		0001	0080	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	625,337.00	0.00	625,337.00	LF	0.00	\$0.14	\$0.
		0001	0090	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	6,190.00	0.00	6,190.00	SQYD	3,280.20	\$16.11	\$52,844.
		0050	0100	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	5,657.70	0.00	5,657.70	TONS	0.00	\$48.75	\$0.
		0050	0110	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	25,965.00	0.00	25,965.00	TONS	0.00	\$102.70	\$0.
		0051	0120	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	475.40	0.00	475.40	TONS	0.00	\$48.34	\$0.
		0051	0130	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,456.20	0.00	2,456.20	TONS	0.00	\$107.91	\$0.
		0052	0140	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,239.30	0.00	1,239.30	TONS	0.00	\$63.24	\$0.
		0052	0150	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	6,402.90	0.00	6,402.90	TONS	0.00	\$117.61	\$0.
		0053	0160	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	912.10	0.00	912.10	TONS	0.00	\$48.75	\$0.
		0053	0170	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	4,318.30	0.00	4,318.30	TONS	0.00	\$102.70	\$0.
		0054	0180	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,277.10	0.00	1,277.10	TONS	0.00	\$48.75	\$0
		0054	0190	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	6,565.90	0.00	6,565.90	TONS	0.00	\$102.70	\$0
		0055	0200	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	2,719.30	0.00	2,719.30	TONS	0.00	\$65.11	\$0
		0055	0210	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	15,189.90	0.00	15,189.90	TONS	10,837.20	\$102.15	\$1,107,019
		0056	0220	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	1,642.00	0.00	1,642.00	TONS	0.00	\$64.92	\$0
		0056	0230	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	8,479.60	0.00	8,479.60	TONS	0.00	\$103.66	\$0.
		0056	0240	4071005	TACK COAT	9,873.00	0.00	9,873.00	GAL	0.00	\$3.57	\$0
		0056	0250	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	111,408.00	0.00	111,408.00	LF	0.00	\$0.14	\$0.
		0056	0260	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	83,110.00	0.00	83,110.00	LF	0.00	\$0.14	\$0
		0056	0270	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,191.00	0.00	1,191.00	SQYD	0.00	\$8.03	\$0
		0057	0280	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	3,289.60	0.00	3,289.60	TONS	689.00	\$52.17	\$35,945
		0057	0290	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	17,942.60	0.00	17,942.60	TONS	18,093.88	\$99.04	\$1,792,017
		0057	0300	4071005	TACK COAT	21,121.00	0.00	21,121.00	GAL	15,973.00	\$3.57	\$57,023
		0057	0310	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	222,182.00	0.00	222,182.00	LF	0.00	\$0.15	\$0
		0057	0320	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	165,748.00	0.00	165,748.00	LF	0.00	\$0.15	\$0
		0057	0330	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	2,013.00	0.00	2,013.00	SQYD	0.00	\$8.86	\$0
		0058	0340	3049910	MISC.PERMANENT AGGREGATE EDGE TREATMENT	393.30	0.00	393.30	TONS	0.00	\$57.07	\$0
		0058	0350	4020521	BITUMINOUS PAVEMENT MIXTURE PG58-28H (SURFACE LEVELING)	2,031.90	0.00	2,031.90	TONS	0.00	\$119.85	\$0.
		0058	0360	4071005	TACK COAT	2,369.00	0.00	2,369.00	GAL	0.00	\$3.57	\$0
		0058	0370	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	19,773.00	0.00	19,773.00	LF	0.00	\$0.23	\$0.
		0058	0380	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	451.00	0.00	451.00	SQYD	0.00	\$7.78	\$0
						1						



#### Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

te M         0.00           te M         4.556,0.00           te M         3.316,6645           te M         7.978           te M         0.000           te M         0.000           te M         3.316,6645           te M         3.316,6645           te M         3.316,6645	applied to       5.748,3316       3.5748,7.978       5.748,7.978       13.337       Payment surface lo       13.337       Payment surface lo       5.748,7.316       Payment surface lo       5.748,7.317	is being issued for the application of asphalt tack route M. is being issued for the application of asphalt veiling mix applied to route M. is being issued for the application of asphalt tack
Ite M         3.316,8645           Ite M         7.978           Ite M         0.000           Ite M         0.000           Ite M         3.316,8645           Ite M         0.000           Ite M         0.000           Ite M         3.316,8645	Applied t           5.748,7.978         Payment           13.337         Payment           4.556         Payment           5.748,3.316         Payment           5.748,3.316         Payment           5.748,3.316         Payment	route M. is being issued for the application of asphalt weiling mix applied to route M. is being issued for the application of asphalt tack route M. is being issued for the application of asphalt weiling mix applied to route M. is being issued for the application of asphalt weiling mix applied to route M. is being issued for the application of asphalt weiling mix applied to route M.
te M         7.978           tte M         0.000           te M         4.556,0.00           te M         3.316,6.645	surface It       13.337       Payment       4.556       Payment       5.748,3.316       Payment       5.748,7.978	veiling mix applied to route M. is being issued for the application of asphalt tack route M. is being issued for the application of asphalt weiling mix applied to route M. is being issued for the application of asphalt veiling mix applied to route M. is being issued for the application of asphalt weiling mix applied to route M.
te M 0.000 tte M 4.556,0.00 tte M 3.316,6.645	applied tx       4.556       S.748,3.316       Payment       surface le       5.748,7.978	route M. Is being issued for the application of asphalt weing mix applied to route M. is being issued for the application of asphalt weing mix applied to route M. Is being issued for the application of asphalt weling mix applied to route M.
rte M 4.556,0.00 rte M 3.316,6.645	5.748,3.316 Surface le 5.748,3.316 Payment surface le 5.748,7.978 Payment surface le	weling mix applied to route M. is being issued for the application of asphalt weling mix applied to route M. is being issued for the application of asphalt weling mix applied to route M.
te M 3.316,6.645	5.748,7.978 Payment surface le	veling mix applied to route M. is being issued for the application of asphalt vveling mix applied to route M.
	surface le	eveling mix applied to route M.
ite M 7.978	13.337 Payment	is being issued for the application of asphalt
		eveling mix applied to route M.
ute 139 80.749		is being issued for the asphalt surface leveling ad route 139.
ite 139 82.329		is being issued for the asphalt surface leveling ad to route 139.
rte 139 76.990,74.946		is being issued for the asphalt surface leveling ad to route 139.
rte 139 75.00		is being issued for the application of asphalt weling mix applied to route 139.
tte 139 80.749		is being issued for the asphalt surface leveling ad route 139.
ite 139 82.329		is being issued for the asphalt tack applied to
ite 139 76.990,74.946		is being issued for the asphalt Tack applied to .
		is being issued for the application of asphalt tac
ıte	139         82.329           139         76.990,74.946	139         80.749         74.946         Payment mix appli           139         82.329         76.990         Payment noute 139           139         76.990,74.946         75.00,70.209         Payment noute 139

The information below this line are details for Construction Signs (if applicable), No Data Available



# Line Item Adjustments by Estimate

Jul 4, 2024

Contract ID: 230915-A4I	З
-------------------------	---

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
JST0050	0210	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	3	Jul 1, 2024	russel2	(\$5,188.71)	A/C indexing
		PG58-22H		ACAD - Tota	al			(\$5,188.71)	
		(SUR	Other Item Adj	justment - To	tal			(\$5,188.71)	
			Price FUEL		3	Jul 1, 2024	SYSTEM	(\$20,763.68)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$20,763.68)	
			Price FUEL - T	otal				(\$20,763.68)	
	0210 -	Total						(\$25,952.39)	
	0290	BITUMINOUS PAVEMENT MIXTURE	Other Item Adjustment	ACAD	2	Jun 17, 2024	russel2	(\$5,294.50)	A/C indexing (Current index 580)
		PG58-22H (SUR			3	Jul 1, 2024	russel2	(\$6,423.89)	A/C indexing
				ACAD - Tota	al			(\$11,718.39)	
			Other Item Adj	justment - To	tal			(\$11,718.39)	
			Overrun	Overrun	3	Jul 1, 2024	SYSTEM	(\$14,585.49)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - T	otal			(\$14,585.49)	
			Overrun - Tota	Overrun - Total					
			Price FUEL		2	Jun 17, 2024	SYSTEM	(\$21,810.19)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					3	Jul 1, 2024	SYSTEM	(\$25,706.52)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				(\$47,516.71)	
			Price FUEL - T	otal				(\$47,516.71)	
	0290 -	Total						(\$73,820.59)	
	0300	TACK COAT	Material		2	Jun 17, 2024	SYSTEM	(\$27,303.36)	
				- Total				(\$27,303.36)	
			Material - Tota	I				(\$27,303.36)	
			MaterialCredit		3	Jul 1, 2024	SYSTEM	\$27,303.36	
				- Total				\$27,303.36	
			MaterialCredit	- Total				\$27,303.36	
	0300 -	Total						\$0.00	
JST0050 -	Total							(\$99,772.98)	
Overall - 1	Total							(\$99,772.98)	



There are no contract adjustments to display for this contract.